
 

 

 

 

  

 

                                          Internal Assessment Test 1  

Scheme of Evaluation 

 
Sub: HYDROLOGY AND IRRIGATION ENGIEERING Sub Code: 17CV73 Branch CIVIL 

        OBE 

  Marks CO RBT 

1 Explain Horton’s Engineering representation of hydrological cycle, with 

neat sketch. 
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2 Define Precipitation. Explain different types precipitation  

 
Precipitation is classified according to the factors responsible for lifting 

and subsequent cooling. Types of precipitation are: 

1) Cyclonic precipitation:  

 
2) Convective precipitation: 

 
3) Orographic Precipitation 
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3 The normal annual rainfall of stations A, B, C and D in a catchment are 

809.7, 675.9, 762.8, 920.1 mm respectively. In the year 2016, the station D 

was inoperative when station A, B, C recorded annual rainfall of 911.1, 

722.3, and 798.9 mm respectively. Estimate the missing rainfall at D in the 

year 2016 by normal ratio method.       
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4 Describe Double mass curve technique used to check consistency of 

rainfall data and adjust rainfall records. 
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5 

 

Name various practical application of hydrology. What are the different 

forms of Precipitation?   

 
 

Forms of precipitation: Rainfall, Snow, Drizzle, Glaze, Sleet, Hail 
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6 

 

The average annual rainfall of 8 rain gauge stations in a basin are 1000, 

950, 900, 850, 800, 700, 600 and 400 mm. If the permissible error is 6%. 

Determine the optimum number of rain gauges required in the basin. 
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7 Calculate the Mean areal rainfall using Isohyetal method using the 

necessary data. 
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P. T.O 

 

Signature of CI     Signature of CCI   Signature of HOD 

 

 

 

 

 

A =    35km
2 

          2.6cm 

 B =     80km
2 

            8.5cm 

C =    80km
2 

          8.0cm 

D =   80km
2 

         8.0cm 

E =      25km
2 

           4.5cm 


